TS FEEANETH R METHR (15 %5)

M3 FEENEHT O —KSFMETHRE (F157%5) &, RKIZEDD L Z
A2k A,

(i A7k T 5 oo 4 1E)
FH1ER mARHETEORBEICHE AR T L 45,306 TH 2B L (%
AN TR OBEZ A ZhZ 1 66,060,004 TH&F 5,
2 WAMMHTHEOMEDOKEORX 3 K UNYHEKX S, I Lol I HIE
BORARETREROSHEIT, F1RKAKREHTEME] ITX5,

(8 B B 37 2 o Ml 1E)
F2k MBI EROLFEIL, TH2RMBEPFEME] XD,



o1 £ R AR BT RME

Tk A 57 N
P g FERTO%KE | i 1IE %A &t P IH FERTO%KE | i 1IE %A &t
T T T T T TH
17 [EE S H A4 13, 524, 557 45,306 13,569, 863 4 A 7,057, 976 45,306 7,103, 282
1 [EEAHA 7,003, 399 45,306 7,048,705 1 (Rl A 4,434, 175 45,306 4,479, 481
5 A o = 66, 014, 698 45,306 66, 060, 004 5 H o = 66, 014, 698 45,306 66, 060, 004




B0 % WEMEEME
; \ FEW | WEE
% % 5 % 4 R
) - i H oS oA VAT T F

4 B e 752, 309 797,615
i A | Py i %m




i L THICB T DR E

(5 Fn 4 /B 5 1 BE B & 3 H)

(%5 2 5= )



H /8

TSN AR ETRE (15 %)



4 1 3 4 FE

T — IR SFHHIE TR (B 1 5 %)



e NI HE AR 1T B S ZE A 0 5

N 1%
(AN
K MHIERTO%HE i IE %A #t
M M TH
17 [E 3 4 13, 524, 557 45, 306 13, 569, 863
% = = 66, 014, 698 45, 306 66, 060, 004

(eth)
#ioE ®| oo M oKW N R
K MHIERTORE | 4l 1E % At ¥oooE M R \
—
RS HAe | # 5 F | £ o
TH TH TH TH TH TH TH
4 it 7,057,976 45,306 7,103,282 45, 306
o B 66, 014, 698 45,306 | 66, 060, 004 45, 306




(17K [EEE S 4
(1) [EEAHE

Fr

178k [E 3 H 4

&

B

IRRER s §=EiEE

i 1IE B O %8 wWoOE %8 &t
T TH TH
2 fEA R [E A4 397, 957 45, 306 443, 263
5 7,003, 399 45, 306 7,048, 705

Filaw T oA 2D 7 F g K afHe

TH




4K fEAEE

1IE Prbdfi B2

&

G

3

+

s

¥ o M =

3 % H
(43K) AR
(117) fREEE
N i
A i i W 2 WOE A o MR N 3R
D K X g
T T T T
6 Fh oo 767,103 45, 306 812, 409| [EJEZ H4: 45,306 12 Z=itk}
7 A JLAT
7 F R
%
Eis 4,434,175 45,306, 4,479, 481 | EEX 4 45, 306

TH
45, 306

TH

R aaF A NVAT T F TR

ATk

i

TH

1 FRaaF oA NVART 7 F o PhiEfmsEit

45, 306

(1) FflaoaF oA )VAD 7 F Pt

mL\:




